Exercises 11.2, Mathematics 1 (12-PHY-BIPMA1)
Artem Sapozhnikov

1. Solve the following systems of equations using Gaussian elimination:

(a)
1+ X9 —31‘3 = —1,
21’1 —+ X9 —2372 = ]_,
T1+ To+ X3 :3,
T +2.%’2 —3$3 =1.

201 — 9 + 3x3 = 3,

3x1 + 19 — bxz =0,

4r1 —x0 + 23 =3,
r1 + 3xy — 1323 = —6.

1 + 39 + 223 = 0,
211 — 19 4+ 3x3 =0,
3x1 — by +4x3 =0,
r1+ 1725 + 4253 = 0.

2. For which X the following system of equations has a solution:

2$1—$2+$3+$4:1,
1+ 29 — w3 + 4wy = 2,
$1+7I2—4$3+11$4 =\



